



\$2,624.00

St. Louis County, Minnesota

Date of Report: 5/12/2025 4:41:45 AM

		General Detai	ls		
Parcel ID:	415-0010-03890				
		Legal Description	Details		
Plat Name:	LAKEWOOD				
Section	Town	ship Rang	је	Lot	Block
14	51	1 13		-	-
Description:	SE 1/4 OF NW 1	/4 EX A TRACT AT SE CORNER	7 50/100 AC MOR	E OR LESS	
		Taxpayer Deta	ils		
Taxpayer Name	HANSEN GARY				
and Address:	5428 LAKEWOOI	D RD			
	DULUTH MN 558	804			
		Owner Detail	S		
Owner Name	HANSON GARY	ETUX			
		Payable 2025 Tax Si	ummary		
	2025 - Net Ta	ах		\$2,595.00	
	2025 - Specia	al Assessments		\$29.00	
	2025 Tot	al Tay 9 Chaolal Assass	monto.	\$2,624.00	
	2025 - 100	al Tax & Special Assessr	nents	ψ2,024.00	
		Current Tax Due (as of	5/11/2025)		
Due May 15	5	Due November	15	Total Due	
2025 - 1st Half Tax	\$1,312.00	2025 - 2nd Half Tax	\$1,312.00	2025 - 1st Half Tax Due	\$1,312.00
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,312.00

**Parcel Details** 

\$1,312.00

2025 - Total Due

2025 - 2nd Half Due

Property Address: 5428 LAKEWOOD RD, DULUTH MN

\$1,312.00

School District: 709
Tax Increment District: -

2025 - 1st Half Due

Property/Homesteader: HANSEN, GARY & SALLY A

		Assessme	nt Details (20	025 Payable 2	2026)		
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
101	1 - Owner Homestead (100.00% total)	\$120,100	\$197,700	\$317,800	\$0	\$0	-
121	1 - Owner Homestead (100.00% total)	\$36,600	\$0	\$36,600	\$0	\$0	-
	Total:	\$156,700	\$197,700	\$354,400	\$0	\$0	2785





St. Louis County, Minnesota

Date of Report: 5/12/2025 4:41:45 AM

**Land Details** 

Deeded Acres: 32.50 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

t Depth:	0.00					
e dimensions shown are n	ot guaranteed to be s	urvey quality.	Additional lot	information can be	e found at	Toy@otlouiocount.ms
os.//apps.stiouiscountymn.	gov/webPlatsiframe/f			ils (RESIDEN	tions, please email PropertyT	ax@stiouiscountymn.go
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
HOUSE	1890	96		1,223	U Quality / 0 Ft <sup>2</sup>	LOG - LOG
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	12	14	168	POST ON G	ROUND
BAS	1	19	15	285	LOW BASE	MENT
BAS	1.5	19	27	513	SHALLOW FOL	JNDATION
OP	0	4	12	48	POST ON G	ROUND
OP	1	10	42	420	POST ON G	ROUND
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC
1.5 BATHS	3 BEDROOM	<b>MS</b>	-		1	CENTRAL, PROPANE
		Improvem	ent 2 Deta	ails (DETACH	ED)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
GARAGE	1980	1,3	50	1,350	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	30	31	930	FLOATING	SLAB
OPX	1	8	10	80	POST ON G	ROUND
WIG	1	30	14	420	-	
		Impro	vement 3	Details (BN)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
BARN	1980	80	0	800	-	-
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	20	40	800	POST ON G	ROUND
		Impro	vement 4	Details (BN)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
BARN	1980	2,2	68	2,268	-	-
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	63	36	2,268	FLOATING	SLAB
		Improvem	nent 5 Deta	ails (HAY BAF	RN)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
POLE BUILDING	1980	1,8	90	1,890	-	-
Segment	Story	Width	Length	Area	Foundat	tion
BAS	1	30	63	1,890	FLOATING	SLAB





St. Louis County, Minnesota

Date of Report: 5/12/2025 4:41:45 AM

		-	ent 6 Details (L	· · · · · · · · · · · · · · · · · · ·			
Improvement Typ		Main Flo	oor Ft <sup>2</sup> Gross A	Area Ft <sup>2</sup> Base	ement Finish	Style	Code & Desc.
POLE BUILDING		3,20		200	-		-
Segme	nt Stor		Length	Area	Found		
BAS	<u> </u>	40	80	3,200	POST ON (	GROUND	
		Improvem	ent 7 Details (Lo	DAF SHED)			
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup> Gross A	Area Ft <sup>2</sup> Base	ement Finish	Style	Code & Desc.
LEAN TO	0	24	0 2	40	-		-
Segme	nt Stor		Length	Area	Found		
BAS	1	12	20	240	POST ON (	GROUND	
		Improvem	ent 8 Details (L0	DAF SHED)			
Improvement Typ	e Year Built	Main Flo	oor Ft <sup>2</sup> Gross A	Area Ft <sup>2</sup> Base	ement Finish	Style	Code & Desc.
LEAN TO	1980	68	4 6	84	-		
Segme	nt Stor	y Width	Length	Area	Found	ation	
BAS	1	18	38	684	POST ON (	GROUND	
		Sales Reported	to the St. Louis	County Auditor			
No Sales informa				,			
140 Galos Illiolilla	don reported.						
		As	ssessment Histo	ory			
	Class Code	Land	Bldg	Total	Def Land	Def Bldg	Net Tax
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity
Year	Code (Legend) 101	Land EMV \$120,100	Bldg EMV \$196,400	Total EMV \$316,500	Land EMV \$0	Bldg EMV \$0	
<b>Year</b> 2024 Payable 2025	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	
	Code (Legend) 101	Land EMV \$120,100	Bldg EMV \$196,400	Total EMV \$316,500	Land EMV \$0	Bldg EMV \$0	
	Code (Legend) 101 121	Land EMV \$120,100 \$36,600	Bldg EMV \$196,400 \$0	Total EMV \$316,500 \$36,600	Land EMV \$0 \$0	## Bldg <b>EMV</b> \$0  \$0	Capacity - -
	Code (Legend) 101 121 Total	Land EMV \$120,100 \$36,600 \$156,700	Bldg EMV \$196,400 \$0 \$196,400	Total EMV \$316,500 \$36,600 \$353,100	\$0 \$0 \$0	\$0 \$0 \$0	Capacity - -
2024 Payable 2025	Code (Legend)  101  121  Total	Land EMV \$120,100 \$36,600 \$156,700 \$120,100 \$36,600	BIdg EMV \$196,400 \$0 \$196,400 \$194,700	Total EMV \$316,500 \$36,600 \$353,100 \$314,800	\$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0	Capacity - -
2024 Payable 2025	Code (Legend) 101 121  Total 101 121	Land EMV \$120,100 \$36,600 \$156,700 \$120,100 \$36,600	Bldg EMV \$196,400 \$0 \$196,400 \$194,700 \$0	Total EMV \$316,500 \$36,600 \$353,100 \$314,800 \$36,600	\$0 \$0 <b>\$0</b> <b>\$0</b> \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0	2,774.00
2024 Payable 2025 2023 Payable 2024	Code (Legend)  101 121  Total  101 121  Total	Land EMV \$120,100 \$36,600 \$156,700 \$36,600 \$156,700	BIdg EMV \$196,400 \$0 \$196,400 \$194,700 \$0	Total EMV \$316,500 \$36,600 \$353,100 \$314,800 \$36,600 \$351,400	\$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0	2,774.00 - 2,852.00
2024 Payable 2025 2023 Payable 2024	Code (Legend)  101 121  Total  101 121  Total  101  101	Land EMV \$120,100 \$36,600 \$156,700 \$120,100 \$36,600 \$156,700 \$114,600	Bldg EMV \$196,400 \$0 \$196,400 \$194,700 \$0 \$194,700	Total EMV \$316,500 \$36,600 \$353,100 \$36,600 \$351,400 \$309,300	\$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	2,774.00 - 2,852.00
2024 Payable 2025 2023 Payable 2024	Code (Legend)  101 121  Total 101 121  Total 101 121  101 121	Land EMV \$120,100 \$36,600 \$156,700 \$120,100 \$36,600 \$156,700 \$114,600 \$34,800	BIdg EMV \$196,400 \$0 \$196,400 \$194,700 \$0 \$194,700 \$0	Total EMV  \$316,500 \$36,600  \$353,100 \$314,800 \$36,600  \$351,400 \$309,300 \$34,800	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	2,774.00 - 2,852.00
2024 Payable 2025	Code (Legend)  101 121  Total  101 121  Total  101 121  Total  101 121  Total	Land EMV  \$120,100 \$36,600  \$156,700 \$120,100 \$36,600 \$156,700 \$114,600 \$34,800 \$149,400	Bldg EMV \$196,400 \$0 \$196,400 \$194,700 \$0 \$194,700 \$0 \$194,700	Total EMV \$316,500 \$36,600 \$353,100 \$314,800 \$36,600 \$351,400 \$309,300 \$34,800 \$344,100	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	2,774.00 - 2,852.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend)  101 121  Total 101 121  Total 101 121  Total 101 121  Total	Land EMV  \$120,100 \$36,600  \$156,700 \$120,100 \$36,600 \$156,700 \$114,600 \$34,800 \$149,400 \$182,300 \$48,500	BIdg EMV \$196,400 \$0 \$196,400 \$194,700 \$0 \$194,700 \$0 \$194,700 \$194,700 \$194,700	Total EMV  \$316,500 \$36,600  \$353,100 \$314,800 \$36,600  \$351,400 \$309,300 \$34,800  \$344,100 \$351,600	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	2,774.00 - 2,852.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend)  101 121  Total 101 121  Total 101 121  Total 101 121  Total 101 121	Land EMV  \$120,100 \$36,600  \$156,700 \$120,100 \$36,600  \$156,700 \$114,600 \$34,800  \$149,400 \$182,300 \$48,500 \$230,800	BIdg EMV \$196,400 \$0 \$196,400 \$194,700 \$0 \$194,700 \$0 \$194,700 \$0 \$169,300 \$0	Total EMV  \$316,500 \$36,600 \$353,100 \$314,800 \$36,600 \$351,400 \$309,300 \$344,800 \$344,100 \$351,600 \$44,500 \$440,100	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity 2,774.00 2,852.00 2,789.00
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend)  101 121  Total 101 121  Total 101 121  Total 101 121  Total 101 121	Land EMV  \$120,100 \$36,600  \$156,700 \$120,100 \$36,600  \$156,700 \$114,600 \$34,800  \$149,400 \$182,300 \$48,500 \$230,800	BIdg EMV \$196,400 \$0 \$196,400 \$194,700 \$0 \$194,700 \$0 \$194,700 \$0 \$169,300 \$0 \$169,300	Total EMV  \$316,500 \$36,600 \$353,100 \$314,800 \$36,600 \$351,400 \$309,300 \$344,800 \$344,100 \$351,600 \$44,500 \$440,100	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	Capacity
2024 Payable 2025  2023 Payable 2024  2022 Payable 2023  2021 Payable 2022	Code (Legend)  101 121  Total  101 121  Total  101 121  Total  101 121  Total  101 121  Total	Land EMV  \$120,100 \$36,600  \$156,700 \$120,100 \$36,600 \$156,700 \$114,600 \$34,800 \$149,400 \$182,300 \$48,500 \$230,800	BIdg EMV  \$196,400 \$0  \$196,400 \$196,400 \$194,700 \$0  \$194,700 \$194,700 \$0  \$169,300 \$169,300  Total Tax & Special	Total EMV  \$316,500 \$36,600 \$353,100 \$314,800 \$36,600 \$351,400 \$309,300 \$344,100 \$351,600 \$48,500 \$400,100	Land EMV  \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	Capacity
2024 Payable 2025  2023 Payable 2024  2022 Payable 2023  2021 Payable 2022	Code (Legend)  101 121  Total  101 121  Total  101 121  Total  101 121  Total  Total  Total	Land EMV  \$120,100 \$36,600  \$156,700 \$120,100 \$36,600 \$156,700 \$114,600 \$34,800 \$149,400 \$182,300 \$48,500 \$230,800	## Bidg EMV  \$196,400  \$0  \$196,400  \$196,400  \$194,700  \$0  \$194,700  \$0  \$194,700  \$0  \$169,300  \$0  \$169,300  Total Tax & Special Assessments	Total EMV  \$316,500 \$36,600 \$353,100 \$314,800 \$36,600 \$351,400 \$309,300 \$344,800 \$344,100 \$351,600 \$440,100  Ty  Taxable Land MV	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$	Capacity





St. Louis County, Minnesota

Date of Report: 5/12/2025 4:41:45 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.